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Question Number : 1 Question Id : 630680202295 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Spinal cord develops from which embryonic germ layer?
Options :
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1. ¥ Ectoderm
2. % Mesoderm
3. # Endoderm

4. * Mesoderm and endoderm

Question Number : 2 Question Id : 630680202296 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Sternal angle is an important surface marking for all of the following except:

Options :

1. * It marks the plane that separates superior mediastinum from inferior mediastinum
2. % Arch of Aorta starts at this point

3. # Trachea divides in two bronchi at this level

4.« 1t marks the level of first rib

Question Number : 3 Question Id : 630680202297 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is not related to medial surface of right lung ?
Options :

1. # Oesophagus

2. % Trachea

3. ¢ Thoracic duct

4. % Superior venacava

Question Number : 4 Question Id : 630680202298 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The least dilatable part of urethra is
Options :

1. # Penile part

2. % Prostatic part

3. % External opening

4. ¥ Membranous part

Question Number : 5 Question Id : 630680202299 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is wrong aboutErb'sparalysis ?
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Options :
1. # Flexion and supination of forearm are lost
2. # Abduction and lateral rotation of arm is lost
3. ¥ Sensations over the medial side of forearm is lost

4. % Biceps and supinator jerks are lost

Question Number : 6 Question Id : 630680202300 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Injury to tibial nerve under flexor retinaculum of ankle leads to which condition?
Options :

1. % Carpal tunnel syndrome

2. % Tarsal tunnel syndrome

3. # Foot drop

4. # Pes calcaneus

Question Number : 7 Question Id : 630680202301 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following do not form boundary of carotid triangle?
Options :

1. ¥ Inferior belly of omohyoid

2. # superior belly of omohyoid

3. % posterior belly of digastric

4. # Sternocleidomastoid

Question Number : 8 Question Id : 630680202302 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Infection at which site will lead to paralysis of all four cranial nerves III, IV, VI and ophthalmic nerve?
Options :

1. # Brain stem

2. % Base of skull

3. % Apex of orbit

4. ¥ Cavernous sinus

Question Number : 9 Question Id : 630680202303 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Melanocytes are present in which layer ?
Options :
1. # Stratum Corneum
2. % Stratum Granulosum
3. % Stratum Lucid

4. % stratum Germinativum

Question Number : 10 Question Id : 630680202304 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which portion of the muscle fibreis contractile unit of muscle ?
Options :

1. ¥ Between A and I band

2. % Between A and Hband

3. % Between A and Z line

4. ¥ Between two adjacent Z lines

Question Number : 11 Question Id : 630680202305 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What is the total amount of serum albumin in humans?
Options :

1. % 0.1-0.2 %

2. % 00.2-0.4%

3.% 13-25%

4.9 47-57%

Question Number : 12 Question Id : 630680202306 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Type of respiration in diabetic ketoacidosis is
Options :

1. ¥ Kussmaul breathing

2. % Cheyne stroke breathing

3. ¥ Hysterical breathing

4. % Biot's respiration

Question Number : 13 Question Id : 630680202307 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
The process of swallowing includes all except:
Options :
1. ¥ Chewing of food
2. # Closure of glottis
3. # Involuntary relaxation of upper oesophageal sphincter
4. % Qesophageal peristalsis

Question Number : 14 Question Id : 630680202308 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following hormones with their deficiencv disease.

a) Insulin 1) dwarfism

b) Thyroxin i1) salt imbalance
¢) Adrenal hormone | iii) Goitre

d) Growth hormone | iv) Diabetes

Options :
L a-iv, b-iil, c-ii, d-1

> % a-l, b-iv, c-iii, d-ii
3 % a-iv, b-ii, c-iii, d-i

4 % @-1, b-li, c-iii, d-iv

Question Number : 15 Question Id : 630680202309 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The first edition of British Homoeopathic Pharmacopoeia was published in year
Options :

1. # 1825

2. % 1845

3. % 1847

4. % 1870

Question Number : 16 Question Id : 630680202310 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following drug is prepared from stem only?
Options :
1. # Sabina
2. % Clematis erecta
3. ¥ Cactus grandiflorus
4. # Asparagus Officinalis

Question Number : 17 Question Id : 630680202311 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Higher potencies are adapted to which type of persons among following?
Options :

1. # Coarse fibred

2. ® Persons engaged in physical labour

3. % Druggists and chemical workers

4. ¥ Person who sleeps for long hours

Question Number : 18 Question Id : 630680202312 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What ratio is taken for preparation of medicine under class IX (centesimal scale)?
Options :

1. # One part by weight of medicinal substance to 99 part by weight of sugar of milk
2. # One part by weight of medicinal substance to 98 part by weight of sugar of milk
3. % Two part by weight of medicinal substance to 98 part by weight of sugar of milk
4. ¥ Two part by weight of medicinal substance to 99 part by weight of sugar of milk

Question Number : 19 Question Id : 630680202313 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following solution is used to test the presence of alum in sugar of milk?
Options :

1. # Todine solution

2. # Potassium ferrocyanide solution

3. % NaOH solution

4. % Silver nitrate solution

Question Number : 20 Question Id : 630680202314 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Who gave the name '50 millesimal potency' to' new dynamization method' ?
Options :
1. # Pierre Schmidt
2. % Dunham
3. % Hahnemann

4. % Boenninghausen

Question Number : 21 Question Id : 630680202315 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The drugs and magic remedies act 1954 deals with
Options :

1. # Preparation of magic remedies

2. # Excise duty on medicines

3. ¥ Advertisement of magical cures

4. % License to prepare magic drugs

Question Number : 22 Question Id : 630680202316 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
In prescription writing 'Q.H."' means:
Options :

1. # Four times a day

2. % Every hour

3. % As much as required

4. % Mother tincture

Question Number : 23 Question Id : 630680202317 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
What is the common name of Caulophyllum ?
Options :

1. % Meadow saffron

2. % Blue cohosh

3. # sow bread

4. * Yellow dock

Question Number : 24 Question Id : 630680202318 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Ledum pal belongs to which family ?
Options :

1. * Papaveraceae

2. % Ranunculaceae

3. # Caprifoliaceae

4. % FEricaceae

Question Number : 25 Question Id : 630680202319 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following drug presents with the symptom, "pains in small spots, can be covered with point of
finger" ?

Options :

1. ¥ Thuja

2. % Belladonna

3. ¥ Kali bich

4. # Ledum pal

Question Number : 26 Question Id : 630680202320 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following drug presents with the symptom, "every muscle in body twitches from eyes to toe
without consciousness"?

Options :

1. # Nux vomica
2. # Belladonna

3. ¥ Hyoscyamus

4. % Veratrum album

Question Number : 27 Question Id : 630680202321 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Sensation of splinter in affected parts' is a symptom of all of the following drugs except:
Options :

1. % Hepar sulph

2. % Nitric acid

3. % Argentum nitricum

4. % Merc sol
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Question Number : 28 Question Id : 630680202322 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which medicine do not have symptom, "dreams of drinking "?
Options :

1. # Arsenic album

2. % Phosphorus

3. % Medorrhinum

4. % Pulsatilla

Question Number : 29 Question Id : 630680202323 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which drug is inimical to Ledum pal?
Options :

1. # Pulsatilla

2. % China

3. % Carbo veg

4. % Arnica

Question Number : 30 Question Id : 630680202324 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which medicine is used in necrosis of bones ?
Options :

1. % Fluoric acid

2. % Phytolacca

3. # Digitalis

4. % Aconite

Question Number : 31 Question Id : 630680202325 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In the era of pathology and bacteriology, who is called as Father of Pathology?
Options :

1. # Leeuwen Hook

2. % Rudolf Virchow

3. % Robert Koch
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4. # Fleming

Question Number : 32 Question Id : 630680202326 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Fourth edition of Organon of medicine was published in which year and where ?
Options :

1. # 1824 AD in Koethen

2. % 1824 AD in Paris

3. % 1829 AD in Koethen

4. % 1829 AD in Paris

Question Number : 33 Question Id : 630680202327 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Between the years 1811- 1820 AD Dr Hahnemann delivered lectures on Homoeopathy in Leipzig. They
were compiled in a book named?

Options :

1. # Friends of Health

2. % A treatise on Materia medica
3. # Medicine of experience

4. % Lesser writings

Question Number : 34 Question Id : 630680202328 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is not a right order of cure ?
Options :

1. % From circumference to center

2. # From within outwards

3. * From more important to less important organ

4. % In reverse order of appearance

Question Number : 35 Question Id : 630680202329 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

After a prescription if there is no aggravation but recovery of patient, what should a prescriber do?
Options :

1. #* Give higher potency
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2. % Wait, do not intervene
3. % Repeat medicine
4. % Antidote the medicine

Question Number : 36 Question Id : 630680202330 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the aphorism number with their respective statement.

a) 77 1) intermittent fever

b) 150 i) regimen in chronic disease
c) 244 iii) pseudo chronic disease

d) 261 iv) indisposition

Options :
| % a-Iv, b-ii, c-iii, d-i

5 o il beiv, c-i, d-i
3 % a-iid, bei, c-i, d-iv

4 % a-il, b-L, c-iii, d-iv

Question Number : 37 Question Id : 630680202331 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which aphorism of Organon of Medicine deals with Indispositions ?
Options :

1. ¥ 65

2.% 73

3. %99

4. ¥ 150

Question Number : 38 Question Id : 630680202332 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In aphorism 77, Hahnemann talk about which type of diseases?
Options :

1. % Acute diseases
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2. * Artificial chronic diseases
3. % False chronic diseases

4. * True chronic diseases

Question Number : 39 Question Id : 630680202333 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Among four cardinal signs of inflammation 'calor' means:
Options :

1. % Colour

2. % Redness

3. # Pain

4. ¥ Heat

Question Number : 40 Question Id : 630680202334 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Shock state is most accurately defined as:

Options :

1. # An increase in level of carbon dioxide above 50mmHg

2. # Increase in metabolic needs and concurrent decrease in body temperature
3. ¥ Inadequate perfusion to meet end organ requirements

4. % Loss of cell permeability and oxygen and nutrients cannot be transported to cells

Question Number : 41 Question Id : 630680202335 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Caseous necrosis is seen in which of the following ?
Options :

1. # Brain infarct

2. # Fungal infection

3. ¥ Tuberculosis

4. * Traumatic fat necrosis of breasts

Question Number : 42 Question Id : 630680202336 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Paradoxical embolus is seen in
Options :
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1. # Deep vein thrombosis
2. % Atherosclerosis
3. ¥ Patent foramen ovale

4. * Acute inflammation

Question Number : 43 Question Id : 630680202337 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is causative organism of syphilis?
Options :

1. ¥ Mycobacterium

2. % Treponema pallidum

3. % Actinomycetes

4. % Propionibacter

Question Number : 44 Question Id : 630680202338 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is not a feature of exudate?

Options :

1. # There is inflammation with increased vascular permeability
2. # Protein content is high

3. % Oedema as in congestive cardiac failure

4. * Purulent oedema

Question Number : 45 Question Id : 630680202339 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

First class judicial magistrate is authorized to pass sentence of imprisonment up to
Options :

1. #* One year

2. ¥ Three years

3. * Five years

4. % Seven years

Question Number : 46 Question Id : 630680202340 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to 'limitation period' in medical law, State or National commission shall not admit a complaint
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unless it is filled within
Options :
1. ¥ 2 months
2. % 6 months
3. % 1 year
4. % 2 years

Question Number : 47 Question Id : 630680202341 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Fingerprints are permanently destroyed in all of the following conditions except:
Options :

1. ® Leprosy

2. % Electric injury

3. ® Exposure to radiations

4. ¥ Eczema

Question Number : 48 Question Id : 630680202342 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is not a form of putrefaction?
Options :

1. ¥ Mummification

2. % Adipocere

3. ® Decomposition

4. % Infarction

Question Number : 49 Question Id : 630680202343 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Gustafson's method of age estimation of adult over 21 years of age depends on physiological changes in

Options :
1. # Long bones
2. # Skull
3. ¥ Teeth

4. % Pelvic bones

Question Number : 50 Question Id : 630680202344 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Paltauf's haemorrhages are haemorrhagic patches on lungs found in
Options :
1. # Smothering
2. % Inhalation of poisonous substance
3. % Hanging
4. % Drowning

Question Number : 51 Question Id : 630680202345 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
What is Spalding's sign in infants ?
Options :

1. ¥ Overriding of bones of cranium

2. % Oedema and bleeding in scalp

3. % Presence of rigor mortis in infants

4. * Mummification

Question Number : 52 Question Id : 630680202346 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statement is not true about the entrance wound of a bullet wound ?
Options :

1. % It is smaller than the diameter of bullet

2. % Blackening of skin may be seen around the wound

3. ¥ Edges are everted

4. % Lead ring is seen around the wound in radiological examination

Question Number : 53 Question Id : 630680202347 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following do not cause cold abscess?
Options :

1. # Tuberculosis

2. % Madura foot

3. % Carbuncle

4. % Leprosy

Question Number : 54 Question Id : 630680202348 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which reactions do not occur due to mismatched blood transfusion ?
Options :

1. ¥ Diuresis

2. % Haematuria

3. # Fever with chills and rigors

4. % Pain in loins

Question Number : 55 Question Id : 630680202349 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
In burns 'rule of nine' is used to calculate
Options :

1. * Energy requirement in burns

2. % Degree of burns

3. ¥ Extent of burns

4. % Type of burns

Question Number : 56 Question Id : 630680202350 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
What is another name for 'club foot' ?
Options :

1. # Pes cavus

2. % Planovalgus foot

3. ¥ Talipes equinovarus

4. % Hallux valgus

Question Number : 57 Question Id : 630680202351 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is not a feature of Reed Sternberg cells?
Options :

1. #* Itis a giant cell

2. % Mirror image nuclei

3. ¥ Uninucleated cell

4. % Derived from B lymphocytes
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Question Number : 58 Question Id : 630680202352 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is false about Von Recklinghausen's disease ?
Options :

1. ® Café au lait spots are characteristic

2. % It is an autosomal dominant disorder

3. ¢ It is usually malignant

4. % Skin pigmentation is there

Question Number : 59 Question Id : 630680202353 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Colle's fracture is a fracture of which of the following part ?
Options :

1. ¥ Radius

2. % Ulna

3. # Phalanges

4. % Humerus

Question Number : 60 Question Id : 630680202354 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which statement is not true about Anti-Mullerian hormone(AMH)?
Options :

1. ® It is a peptide produced by granulosa cells of primordial follicle (<6mm) and by Sertoli cells of fetal
testes

2. % Tt helps in oocyte maturation and follicular development
3. # It causes Mullerian duct regression during male sexual differentiation

4. % As ovarian follicle number declines, level of AMH increases

Question Number : 61 Question Id : 630680202355 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Probable causes of Mittelschmerz's syndrome are all except:
Options :

1. ¥ Obstruction due to Mullerian anomalies

2. % Increased tension of Graafian follicle just prior to rupture

3. ¥ Peritoneal irritation by the follicular fluid following ovulation

4. % Contraction of the tubes and uterus
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Question Number : 62 Question Id : 630680202356 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which is not true about Braxton-Hick's contractions ?
Options :

1. * They occur at irregular interval

2. % Pain primarily in lower abdomen

3. ¥ Pain is not relieved by sedation

4. % Cervix is not dilated

Question Number : 63 Question Id : 630680202357 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which portion of the decidua retains its characteristic appearance till term and becomes the maternal part of
maternal portion of the placenta?

Options :

1. ¥ Decidua basalis

2. # Decidua intermidialis
3. * Decidua capsularis

4. # Decidua vera

Question Number : 64 Question Id : 630680202358 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which is not true about granulosa cell tumour ?
Options :

1. # It is associated with endometrial hyperplasia
2. ¥ It produces excess progesterone

3. % Call - Exner cells are pathognomic feature

4. % Tt is most common ovarian stromal tumour

Question Number : 65 Question Id : 630680202359 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Following are indications for delivery without delay in preeclampsia except:
Options :

1. # FGR with non-reassuring fetal status

2. % Abnormal coagulation failure
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3. # Pulmonary oedemaPaO2 < 95%
4. % Urine output 1L in 24 hrs.

Question Number : 66 Question Id : 630680202360 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What is Osiander's sign in pregnancy ?

Options :

1. # Bluish discolouration of vaginal wall

2. % Increased pulsation felt through the lateral fornixes at 8th week
3. # Softness of cervix at 6th week

4. % Regular and rhythmic contraction of uterus during bimanual examination at 6-8 weeks

Question Number : 67 Question Id : 630680202361 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The presence of caput succedaneum in newborn is due to:
Options :

1. #® Collection of blood under pericranium

2. % Collection of sero sanguineous fluid in scalp

3. # Oedema of scalp due to use of forceps during delivery

4. ® Varicose veins in the scalp

Question Number : 68 Question Id : 630680202362 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Milky appearance of fluid in pleural effusion is suggestive of which condition ?
Options :

1. ¥ Rheumatoid disease

2. % Obstruction of thoracic duct

3. % SLE

4. % Acute pancreatitis

Question Number : 69 Question Id : 630680202363 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Auerbach's plexus control smooth muscles of which system ?
Options :

1. ¥ Gastrointestinal system
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2. # Respiratory tract
3. # Blood and lymphatic vessels

4. % Male reproductive system

Question Number : 70 Question Id : 630680202364 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which is false about Gilbert's syndrome ?

Options :

1. #* It is autosomal dominant disorder

2. % Plasma bilirubin levels are very high

3. % Caused by mutation in UDP-glucuronyl transferase enzyme

4. # It results in decreased conjugation of bilirubin

Question Number : 71 Question Id : 630680202365 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following syndrome is associated with 47XXY ?
Options :

1. # Turner's syndrome

2. % Cushing's syndrome

3. % Diencephalic syndrome

4. ¥ Kleinfilter syndrome

Question Number : 72 Question Id : 630680202366 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In which of the following conditions atrial fibrillation is not seen?
Options :

1. # Coronary artery disease

2. ¥ Ventricular septal defect

3. % Constrictive pericarditis

4. * Valvular heart disease

Question Number : 73 Question Id : 630680202367 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Following are the characteristic feature of hyperkalemia in ECG except:
Options :
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1. # Peaked T wave
2. % Loss of P wave
3. % ST depression
4. % Widened QRS complex

Question Number : 74 Question Id : 630680202368 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which autoimmune disease is not associated with HLA-B27 ?
Options :

1. # Reiter's syndrome

2. % Psoriatic arthritis

3. ¥ Behcet's disease

4. % Ankylosing spondylosis

Question Number : 75 Question Id : 630680202369 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following are features of nephrotic syndrome except:
Options :

1. # Peripheral oedema

2. % Hypoalbuminemia

3. ¥ Microscopic haemorrhages

4. % Proteinuria> 5g/day

Question Number : 76 Question Id : 630680202370 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which skin condition shows a rash with' fir tree pattern' on torso ?
Options :

1. * Psoriasis

2. # Tinea corporis

3. % Lichen planus

4.+ Pityriasis rosea

Question Number : 77 Question Id : 630680202371 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is a leading medicine for fistula in ano alternating with chest complaints?
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Options :
1. ¥ Berberis vulgaris
2. # Arnica montanna
3. # Hepar sulph
4. % Nitric acid

Question Number : 78 Question Id : 630680202372 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which was the first repertory by Dr. Boenninghausen?
Options :

1. # Therapeutic pocket book

2. ¥ Repertory of Anti-psoric remedies

3. % Repertory of medicines which are not Anti-psoric

4. % An attempt at showing the relative kinship of Homeopathic medicines

Question Number : 79 Question Id : 630680202373 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Dr P. Schmidt, which was the first printed repertory?
Options :

1. # Chronic disease

2. ¥ Systematic description of the pure effect of remedies

3. % Description of the pure effect of remedies

4. % Jahr repertory

Question Number : 80 Question Id : 630680202374 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following repertory is not based on alphabetical order?
Options :

1. # Robin Murphy's repertory

2. # S. R. Phatak's repertory

3. ¥ Bryant's repertory

4. ¥ Knerr's repertory

Question Number : 81 Question Id : 630680202375 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Concordance repertory is written by:
Options :
1. ¥ C. Hering
2. % C. B. Knerr
3. % C. Lippe
4. % C. M. Boger

Question Number : 82 Question Id : 630680202376 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Dr Boenninghausen classified symptoms in seven categories. Among those,Quibusauxilis means:
Options :

1. ¥ Seat of disease

2. % Modification

3. % Cause of disease

4. % Accompanying symptoms

Question Number : 83 Question Id : 630680202377 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Convulsions are found in which chapter of Kent's repertory?
Options :

1. ¥ Head

2. % Mind

3. # Dreams

4. ¥ Generalities

Question Number : 84 Question Id : 630680202378 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Gall stones are found in which chapter of Kent's repertory ?
Options :

1. # Stomach

2. % Liver

3. % Abdomen

4. % Gall bladder

Question Number : 85 Question Id : 630680202379 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66

Match the following rubrics to chapters in Kent’s repertory.

a) Speech 1) larynx

b) Appetite i) mouth

c¢) Voice iii) abdomen
d) Intussusception | iv) stomach

Options :
|« a-1L, b-iv, ¢, d-ii

5 s Ak, beii, c-iil, d-iv
3 % a-ii, b-ii, c-i, d-iv

4 % a-1v, b-iii, c-ii, d-i

Question Number : 86 Question Id : 630680202380 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Who among the following called for a rapid return of the general (family) physician who would give
comprehensive care in 1923 ?

Options :

1. # Neumann

2. % Grotjahn

3. ¥ Francis Peabody
4. % Virchow

Question Number : 87 Question Id : 630680202381 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What is the fifth stage of a demographic cycle of a nation ?
Options :

1. # Stationary

2. % Early expanding

3. # Late expanding

4. % Declining

Question Number : 88 Question Id : 630680202382 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Which of the following group is not the beneficiaries of ICDS programme ?
Options :
1. # Preschool children under 6 years of age
2. % Adolescent boys and girls-11-18 years of age
3. % Pregnant mothers

4. % Lactating mothers

Question Number : 89 Question Id : 630680202383 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The most important step in controlling \ reducing numbers of mosquitoes is:
Options :

1. * Genetic control

2. # Space sprays

3. ¥ Source reduction

4. % Biological control

Question Number : 90 Question Id : 630680202384 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The best method for disinfection of overhead tank infected with cysts of Entamoeba is:
Options :

1. # Boiling

2. % Chlorination

3. #* Jodination

4. # Ultraviolet radiation

Question Number : 91 Question Id : 630680202385 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The diseases which are imported to a country but not present otherwise in country are termed as:
Options :

1. ¥ Exotic

2. % Enzootic

3. % Epizootic

4. * Endemic

Question Number : 92 Question Id : 630680202386 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is most widely accepted most sensitive indicator of health status of a country ?
Options :

1. # Crude death rate

2. % Maternal mortality rate

3. ¥ Infant mortality rate

4. % DALY

Question Number : 93 Question Id : 630680202515 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The aorta bifurcates at the level of:
Options :

1. # L2 vertebra

2. % L3 vertebra

3. ¥ L4 vertebra

4. % L5 vertebra

Question Number : 94 Question Id : 630680202516 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The diaphragm is traversed by the esophagus at the level of:
Options :

1. # 9th thoracic vertebra

2. ¥ 10th thoracic vertebra

3. # 11th thoracic vertebra

4. % 12th thoracic vertebra

Question Number : 95 Question Id : 630680202517 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is a feature of ulnar nerve injury?
Options :

1. #* Paralysis of thenar muscles

2. % Weakness of flexors of interphalangeal joints

3. ¥ Loss of sensation in the medial one and half fingers

4. % Weakness of extensors of metacarpophalangeal joints
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Question Number : 96 Question Id : 630680202518 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following conditions is characterized by conjugated hyperbilirubinemia?
Options :

1. # Crigler -Najjar syndrome, type I

2. # Crigler-Najjar syndrome, type II

3. # Gilbert syndrome

4. % Dubin-Johnson syndrome

Question Number : 97 Question Id : 630680202519 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statements is true regarding the anion gap?

Options :

1. ¥ It is an index of relative concentration of plasma anions other than chlorides and bicarbonates
2. % Normal anion gap is 200-250 mEq/L

3. # It denotes the excess of sodium and potassium ions in plasma

4. # Tt is decreased in metabolic acidosis

Question Number : 98 Question Id : 630680202520 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

A positive Finkelstein sign is found in case of:
Options :

1. # Rotator cuff tendinitis

2. % Bicipital tendinitis

3. ¥ De Quervain's tenosynovitis

4. % Patellar tendinitis

Question Number : 99 Question Id : 630680202521 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following conditions have erythema with an orange hue and palmar thickening due to
hyperkeratosis?

Options :
1. % Psoriasis
2. # Lichen planus
3. ¥ Dermatomyositis
4. % Pityriasis rubra pilaris
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Question Number : 100 Question Id : 630680202528 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Anterior branches of abdominal aorta are all, except:
Options :

1. # Coeliac trunk

2. % Superior mesenteric artery

3. # Inferior mesenteric artery

4. ¥ Median sacral artery

Question Number : 101 Question Id : 630680202529 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Content of cubital fossa are all, except:
Options :

1. # Radial nerve

2. % Bicipital aponeurosis

3. * Brachial artery

4. % Ulnar nerve

Question Number : 102 Question Id : 630680202530 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which artery is found in adductor canal?
Options :

1. # Profunda femoris

2. ¥ Femoral

3. % Popliteal

4. % Obturator

Question Number : 103 Question Id : 630680202531 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Level of hyoid bone during rest :
Options :

1. ¥ C3

2. % C5

3. % C7
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4. % C2

Question Number : 104 Question Id : 630680202532 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Accessory nerve exits from skull:
Options :

1. ¥ Juglar foramen

2. # Superior orbital fissure

3. % Stylohyoid foramen

4. % Hypoglossal canal

Question Number : 105 Question Id : 630680202533 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Pinocytotic and phagocytotic substance are digested inside the cell by which enzyme?
Options :

1. # Lysoferrin

2. ¥ Acid Hydrolases

3. % Hyaluronic Acid

4. % Acid phosphatase

Question Number : 106 Question Id : 630680202534 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Factor responsible for anticoagulating properties within blood vessel:

Options :

1. # Vitamin-K Antagonist Are Present in Plasma

2. % Smoothness of Vascular Endothelium and layer of Glycocalyx on endothelium
3. % Thrombin Has a Positive Feedback on Plasminogen

4. * Sodium Citrate in Plasma Chelate Calcium Ion

Question Number : 107 Question Id : 630680202535 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is a vasodilator?
Options :

1. ¥ Histamine

2. % Epinephrin
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3. # Vasopressin

4. % Angiotensin -2

Question Number : 108 Question Id : 630680202536 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Factor that does not increase lung compliance.
Options :

1. # Normal Ageing

2. ¥ Alveolar Atelectasis

3. % Lung surfactant

4. % Emphysema

Question Number : 109 Question Id : 630680202537 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

which is not the function of myenteric plexus?
Options :

1. # Increased Tone of The Gut Wall

2. # Increased Intensity of The Rhythmic Contraction
3. % Local Contraction of The Submucosal Muscle

4. % Increased velocity of conduction excitatory waves along the gut wall.

Question Number : 110 Question Id : 630680202538 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Higher potency prepared with the help of machine are called :
Options :

1. # Straight potency

2. # Jumping potency

3. % High fluxion potency

4. % Fluxion potency

Question Number : 111 Question Id : 630680202539 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The apparatus used for distillation of water is known as?
Options :

1. % Round bottom flask
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2. % Porcelain disc
3. ¥ Leibig’s condenser

4. * Dimroth condenser

Question Number : 112 Question Id : 630680202540 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In 50 millesimal scale the numerator “o0” represents?
Options :

1. # Asa custom as used by Hahnemann

2. % Amount of vehicles used in dynamization

3. ¥ Poppy sized globule employed in dynamization

4. # It represents the harmony of the organism

Question Number : 113 Question Id : 630680202541 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Cancellation and suspension of license comes under which legislation?
Options :

1. ® 67-A

2. ¥ 67-H

3. % 67-F

4. # 67-E

Question Number : 114 Question Id : 630680202542 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Coll. Collyr” in prescription signifies:
Options :

1. % A nose wash

2. % A mouth wash

3. ¥ An eye wash

4. % Food

Question Number : 115 Question Id : 630680202543 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
In the guiding symptoms of our Materia Medica by Dr. C. Hering, the Greek symbol “Pi” stands before :
Options :
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1. ¥ Symptoms only observed on sick
2. # Symptoms only observed in proving of healthy human being
3. # Symptoms only observed on pregnant lady
4. # Symptoms only observed on child

Question Number : 116 Question Id : 630680202544 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statement is incorrect?

Options :

1. % Surface cold to touch, yet cannot bear to be covered — Camphora

2. % State of collapse, skin cold, yet throws up the covers — Medorrhinum

3. % Skin feels cold to touch, icy coldness of extremities and patient want covering — Secale cor

4. % Cold perspiration on forehead; with nearly all complaints — Veratrum alb

Question Number : 117 Question Id : 630680202545 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

“Itching of various parts; aggravation by cold, amelioration by warmth; when undressing, uncovering or
expo sing to cold air”, regarding this which group of medicine is correct?

Options :

1. # Rumex, Hepar sulph, Nat sulph, Bryonia
2. % QOleander, Nat sulph, Rumex, Kali mur

3. % Rumex, Nat sulph, Oleander, Drosera

4. ¥ Rumex, Nat sulph, Oleander, Hepar sulph

Question Number : 118 Question Id : 630680202546 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Hahnemann, Calcerea must not be used before . May produce unnecessary
complications.

Options :

1. # Aconite & Sulphur

2. ¥ Nitric acid & Sulphur

3. # Antim crud & Nitric acid
4. % Aconite & Antim crud

Question Number : 119 Question Id : 630680202547 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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The 1st edition was published when Hahnemann 's residence was at :
Options :
1. ¥ Torque
2. % Paris
3. # Meissen

4. % Koethen

Question Number : 120 Question Id : 630680202548 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

After giving medicine to a patient, he is given few advice, which are given in aphorism?
Options :

1. ¥ 259-263

2. % 264-266

3. ¥ 159-162

4. % 245-251

Question Number : 121 Question Id : 630680202549 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

“Individualization is the cardinal principal of a true pathology as well as true therapeutics”, is said by:
Options :

1. # J.T. Kent

2. % Boenninghausen

3. % H.A. Robert

4. % Stuart close

Question Number : 122 Question Id : 630680202550 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Dyspnoea worse in rainy season symptom related to which miasm:
Options :

1. # Psora

2. ¥ Sycotic

3. % Syphilitic

4. * Tubercular

Question Number : 123 Question Id : 630680202551 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
Myelin figures are found in:
Options :
1. # Reversible cell injury
2. % Trreversible cell injury
3. ¥ Hypertrophy
4. % Hyperplasia

Question Number : 124 Question Id : 630680202552 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which type of necrosis occurs in immune reactions in which complexes of antibody and antigen are
deposited in walls of blood vessels?

Options :

1. # Fat necrosis

2. % Fibroid necrosis

3. % Coagulative necrosis

4. ® Caseous necrosis

Question Number : 125 Question Id : 630680202553 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Embolism found in Caisson disease:
Options :

1. # Thromboembolism

2. # Fat embolism

3. ¥ Air embolism

4. % Amniotic fluid embolism

Question Number : 126 Question Id : 630680202554 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following disease is caused by Rickettsia prowazekii ?
Options :

1. # Typhoid fever

2. % Bubonic plague

3. % Diphtheria

4. % Typhus fever

Question Number : 127 Question Id : 630680202555 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Find the incorrect pair.
Infectious agent Diseases.

Options :

1. # Prion - Creutzfeldt-Jacob disease
2. % Virus - Trachoma

3. * Fungi - Histoplasmosis

4. % Protozoa - Kala-azar

Question Number : 128 Question Id : 630680202556 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Consider the following statement and answer accordingly.

Assertion (A): plasma colloid osmotic pressure to push water and salts out of capillaries into the interstitial
space is nearly balanced by the tendency of vascular hydrostatic pressure to pull water and salts back into
vessels.

Reason (R): Elevated hydrostatic pressure or diminished colloid osmotic pressure results in oedema.

Options :

1. # A is true and R is correct explanation of A

2. % Ais true, but R is not correct explanation of A
3. # A istrue, R is false

4. % A is false, R is true

Question Number : 129 Question Id : 630680202557 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Four carpal bones are present at what age?
Options :

1. ® 3 years

2. % 4 years

3. ® 5years

4. % 6 years

Question Number : 130 Question Id : 630680202558 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Poison having garlic smell:

Options :

1. ¥ Arsenic
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2. # (Cannabis
3. % Alcohol
4. % Hemlock

Question Number : 131 Question Id : 630680202559 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Immersion syndrome occurs due to :
Options :

1. ¥ Vagal inhibition

2. % Vagal stimulation

3. % Sympathetic stimulation

4. % Sympathetic inhibition

Question Number : 132 Question Id : 630680202560 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Surgical alteration or suturing of gunshot wounds may create problems in distinguishing entry from exit.
This is called as:

Options :

1. * Formication phenomenon
2. % Gordon phenomenon

3. # Coockie cutter phenomenon

4. ¥ Kennedy phenomenon

Question Number : 133 Question Id : 630680202561 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following statements about hypovolemic shock is false?
Options :

1. * Shock may be present with normal pulse rate and normal blood pressure
2. % Hyper ventilation occurs in response to metabolic acidosis

3. ¥ Central venous pressure increases

4. % Oliguria is present

Question Number : 134 Question Id : 630680202562 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Assessment of the size of burn wound can be done by the following, except :
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Options :
1. # The Lund and Browder chart is useful in larger burns
2. % The patient’s whole hand is 2% TBSA (total body surface area)
3. % Rule of nines
4. % The patient’s whole hand is 1% TBSA (total body surface area)

Question Number : 135 Question Id : 630680202563 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Most common invasive mammary cancer is:
Options :

1. ¥ Infiltrating ductal carcinoma

2. # Medullary carcinoma

3. # Papillary carcinoma

4. % Tubular carcinoma

Question Number : 136 Question Id : 630680202564 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following factors does not delay the wound healing ?
Options :

1. # Jaundice

2. % Vitamin A deficiency

3. # Corticosteroids

4. ¥ Ultraviolet rays

Question Number : 137 Question Id : 630680202565 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Wallerian degeneration does not occur in:
Options :

1. # Crush nerve injury

2. % Axonotmesis

3. % Senescence

4. ¥ Neuropraxia

Question Number : 138 Question Id : 630680202566 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Match the following

A. Cryptopathic ulcer | i. Erythrocyanocis frigida
B. Martorell’s ulcer | ii. Cold injury
C. Bazin's ulcer iii. Atherosclerosis

Options :

1. % A-i, B-iii, C-ii
2. % A-ii, B-iii, C- i
3. % A-ii, B-1i, C-iii
4. % A-i, B-ii, C-iii

Question Number : 139 Question Id : 630680202567 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which does not play role in endocrinopathy in endometriosis?
Options :

1. % Anovulation

2. % Corpus luteum insufficiency

3. ¥ Decrease in prolactin level

4. % Luteinised unruptured follicle

Question Number : 140 Question Id : 630680202568 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Vulvar ulcers not seen in which disease?
Options :

1. # Crohn's disease

2. % Behcet’s disease

3. % Lipschutz ulcers

4. % Ulcerative colitis

Question Number : 141 Question Id : 630680202569 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Incorrect about fern test.

Options :

1. ¥ Ferning appear after 21st day

2. # Ferning appear due to high sodium chloride

3. % Occur due to high estrogen level
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4. # It has to done during the middle cycle

Question Number : 142 Question Id : 630680202570 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Diabetic ketoacidosis is characterized by:
Options :

1. # Oliguria

2. # Bradycardia

3. % Hypertension

4. ¥ Cerebral edema

Question Number : 143 Question Id : 630680202571 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is not modern repertory?
Options :

1. # Barthal & Klunker — Synthetic Repertory

2. # Frederik Schroyens — Synthesis Repertory

3. % Robin Murphy — Homoeopathic Medical Repertory
4. ¥ Phatak — Phatak’s Repertory

Question Number : 144 Question Id : 630680202572 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Hahnemann original work of repertory is kept in:
Options :

1. * London Museum

2. % Robort Bosch Institute, Stuttgart

3. ¥ Paris Museum

4. % Richard Hael’s Library

Question Number : 145 Question Id : 630680202573 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
“AFFECTATION” single remedy in Kent repertory:
Options :

1. ¥ Stramonium

2. % Nux Vomica
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3. % Lyco podium
4. * Veratrum alb

Question Number : 146 Question Id : 630680202574 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following disease often called as “Father Of Public Health” in western world during 19th
century ?

Options :

1. # Leprosy

2. ¥ Cholera

3. ® Tuberculosis
4. % Plague

Question Number : 147 Question Id : 630680202575 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which Intra Uterine Device Is Used Under the National Family Welfare Programme in India?
Options :

1. ¥ Cu-T-200b

2. % Cu-T-200c

3. % Cu-T-200d

4. % Cu-T-200e

Question Number : 148 Question Id : 630680202576 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Disinfectant used for the particles which cannot be boiled?
Options :

1. # Todine

2. % Industrial methylated spirit

3. ¥ Formaldehyde gas

4. % Potassium permanganate

Question Number : 149 Question Id : 630680202577 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Small-For-Date Babies:
Options :
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1. ¥ They Weigh Less Than 10th Percentile for Then Gestational Age
2. ® They Weigh Less Than 20t Percentile for Then Gestational Age

3. # They Weigh Less Than 30 H Percentile for Then Gestational Age
4. ® They Weigh Less Than 40th Percentile for Then Gestational Age

Question Number : 150 Question Id : 630680202578 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
DPT Booster Dose Given In:

Options :

1. % 10 — 20 Month

2. ¥ 16 — 24 Month

3. # 20— 26 Month

4. % 12 — 15 Month
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